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26. The daily wages of A and B respectively are Rs. 3.50 and 

2.50. When A finishes a certain work, he gets a total wage of 

Rs. 63. When B does the same work, he gets a total wage Rs. 

75. If both of them do it together what is the cost of the 

work? 

a) Rs. 67.50 b) Rs. 27.50 c) Rs. 60.50 d) Rs. 70.50 

  

27. It’s year 2025 and iphone16 has just been launched. 

Apple has claimed that it is the best iPhone they have 

created so far. It’s 4 charging inlets have completely 

revolutionized the mobile market. If only top and bottom 

inlets are used, it takes 20 mins to fully charge. If the right, 

left and bottom inlet are used, it takes 15 mins to fully 

charge. If top, left and right inlets are used, it takes 12 mins 

to charge. What is the fastest possible time in which the 

iphone16 can be fully charged? 

a) 12 min b) 8 min c) 11 min d) 10 min  

 28. Anil alone can do a job in 20 days while Sunil alone can 

do it in 40 days. Anil starts the job, and after 3 days, Sunil 

joins him. Again, after a few more days, Bimal joins them and 

they together finish the job. If Bimal has done 10% of the 

job, then in how many days was the job done? 

a)14 b)13 c)15 d)12  

 

29. A tank is emptied everyday at a fixed time point. 

Immediately thereafter, either pump A or pump B or both 

start working until the tank is full. On Monday, A alone 

completed filling the tank at 8 pm. On Tuesday, B alone 

completed filling the tank at 6 pm. On Wednesday, A alone 

worked till 5 pm, and then B worked alone from 5 pm to 7 

pm, to fill the tank. At what time was the 

tank filled on Thursday if both pumps were used 

simultaneously all along? 

a) 4:36 pm b) 4:12 pm c) 4:24 pm d) 4:48 pm  

 

30. When they work alone, B needs 25% more time to finish 

a job than A does. They two finish the job in 13 days in the 

following manner: A works alone till half the job is done, 

then A and B work together for four days, and finally B works 

alone to complete the remaining 5% of the job. In how many 

days can B alone finish the entire job? 

a)20 b)16 c)22 d)18 

 

31. Ramesh and Ganesh can together complete a work in 16 

days. After seven days of working together, Ramesh got sick 

and his efficiency fell by 30%. As a result, they completed the 

work in 17 days instead of 16 days. If Ganesh had worked 

alone after Ramesh got sick, in how many days would he 

have completed the remaining work? 

a) 13.5 b) 11 c) 12 d) 14.5 

  

32. If A works alone, he would take 4 days more to complete 

the job than if both A and B worked together. If B worked 

alone, he would take 16 days more to complete the job than 

if A and B work together. How many days would they take to 

complete the work if both of them worked together? 

a) 10 days b) 12 days c) 6 days d) 8 days 

  

33. Two workers A and B are engaged to do a piece of work. 

A working alone would take 8 hours more to complete the 

work then when work together. If B worked alone, would 

take 4 1/2 hours more than when work together. The time 

required to finished the work together is 

a) 5 hours b) 4 hours c) 8 hours d) 6 hours  

  

34. B would have taken 10 hours more than what A would 

have taken to complete a task if each of them worked alone. 

Working together they can complete the task in 12 hours. 

How many hours would B taken to do 50% of the task? 

a)30 b)15 c)20 d)10 

 

 35. B takes 12 more hours than A to complete a task. If they 

work together, they take 16 fewer hours than B would take 

to complete the task. How long will it take A and B together 

to complete a task twice as difficult as the first one? 

a) 16 hrs b) 12 hrs c) 14 hrs d) 18 hrs  

36. A company employed 200 workers to complete a certain 

work in 150 days. If only one forth of the work has been 
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done in 50 days, then 

the number of additional 

workers to be employed, to complete the work on time, is 

a) 100 b) 300 c) 600 d) 200 

 

37. 35 persons are engaged to complete a work in 60 days. 

After 32 days it is observed that only (2/5)th part of the work 

has been done. The number of persons to be engaged to 

complete the remaining work in the said period is  

a) 20 b) 35 c) 30 d) 25  

 

38. 25 persons can complete a work in 60 days. They started 

the work. 10 persons left the work after x days. If the whole 

work was completed in 80 days, then what is the value of x?  

a) 90 b) 80 c) 20 d) 30 

 

  39. 250 men can finish a work in 20 days working 5 hours a 

day. To finish the work within 10 days working 8 hours a day, 

the minimum number of men required is 

a) 310 b) 300 c) 313 d) 312  

 

40. Working 7 hours in a day, 4 men can do a piece of work 

in 8 days. Working 8 hours in a day, the required number of 

men to perform the same work in 4 days will be  

a) 8 b) 4 c) 7 d)  

 

41. 15 men take 20 days to complete a job working 8 hours a 

day. The number of hours a day should 20 men take to 

complete the job in 12 days  

a) 5 hours b) 10 hours c) 15 hours d) 18 hours  

 

42. The ratio of the amount of work done by (x – 1) labours 

in (x + 1) days and that done by (x + 1) labours in (x + 2) days 

is 5 : 6. Then the value of x  

a) 16 b) 15 c) 17 d) 14 

   

43. Having the same capacity 9 taps fill up a water tank in 20 

minutes. How many taps of the same capacity required to fill 

up the same water tank in 15 minutes 

a) 10 b) 12 c) 15 d) 18 

  

44. A certain number of persons can complete a work in 34 

days working 9 h a day. If the number of persons is 

decreased by 40%, then how many hours a day should the 

remaining persons work to complete the work in 51 days 

a) 9 b) 8 c) 12 d) 10  

 

45. 20 men can build a 56 meter long wall 

in 6 days, what length of similar wall can be built by 35 men 

in 3 days? 

a) 49 b) 42 c) 64 d) 140  

 

46. If P men working P hours per day for P days produce P 

units of work, then the units of work produced by N men 

working N hours a day for N days is  

A . P2/N2  B.P3/N2  C.  N2/P2    D. N3/P2 

 

47. If the expenditure of gas on burning 6 burners for 6 

hours a day for 8 days is Rs.450, then how many burners can 

be used for10 days at 5 hours a day for Rs.625 

a) 12 b) 16 c) 4 d) 8 

  

 48. 30 men working 14 hours a day can build a school of 10 

rooms in 38 days. How many children are required to build a 

hospital of 15 rooms in 57 days working 6 hours daily?  The 

ratio of efficiency of men and children is 3:2. 

a) 100 b)105 c)125 d) none  

  

49. A man is twice as fast as a woman and a woman is twice 

as fast as a boy in doing a work. If all of them, a man, a 

woman and a boy can finish the work in 7 days, in how many 

days a boy will do it alone? 

a) 49 b) 7 c) 6 d) 42 
  

 50. The time taken by 4 men to complete a job is double the 

time taken by 5 children to complete the same job. Each 

man is twice as fast as a woman. How long will 12 men, 10 

children and 8 women take to complete a job, given that a 

child would finish the job in 20 days. 

a)4 days b)3 days c)2 days d)1 day 

 


